Ratio to Pythia 8.308 default
[N

0.5

v
—

1960 GeV ppbar

PT (top) (Mtt < 450)

Top (parton level)
S I N R e

Rivet 3.1.10, = 2.1M events

- “Hea

= ;?I’:—!&

= T4

~ 2001

—— ; Xf ’LX‘T* .| _

= —a— Pythia 8.308 default [k =

- Pythia 8.308 tune-1 ! -

= Pythia 8.308 tune-2c | =

— Pythia 8.308 tune-2m | =

:| | | | | | | [ | | | | | | I| Ll | :

:l T T T T | T T T T | T T T T | T T :
| " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " 1 1 . | " 1 1
0 100 200 300

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


